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WHAT ARE
THERE IN YOUR

TOWN?
Mr. Ningayya! What is there
in this box?

There is a bottle, sir!

What is there in the bottle?
Mandu.

What does mandu mean?

Mandu means medicine in
English.
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I'see! For whom? Is it for you?

This medicine is not for me. It

is for my uncle.
Why? (Does he have) fever?
Not fever; stomachache. This
medicine is very good for

stomachache.

There the master (is coming)!

Namaskaram sir!

Namaskaram. Hello, Mr.
Ningayya! Who has the
stomachache?

My uncle.

Which uncle is this? Is he your

father’s younger brother?

No, sir! My aunt’s husband.

Aunt? You mean your mother’s

sister?

Yes, sir!

I too have stomachache.
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I have headache. And fever too.

I don’t have headache. But I
have earache.
Good! All of you take this

medicine.
All right. Now listen to the
lesson.
Sir! What is your native place?
Amaravati.

In which state is it?

It is in Guntur District in Andhra
Pradesh.

What (attractions) are there in
your town?

There are Siva temple and
Buddhist Stupa.

What else are there?

The river Krishna. There is also

a museum.

Is there a rail connection to your

town?
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No. There is only bus

connection.

Is there telephone connection to
your town?
Yes, there is. Where is your

(native) town?

My (native) town is in Haryana.

Yes, you are a Haryana person,
aren’t you? How many of you
are Haryana people? How
many Kerala persons? and

how many Orissa persons?

Amongst us I am the one Orissa
person. He is a Keralite.
Mukharjee! you are a Bengali,
aren’t you?

Yes.

The remaining persons are
Haryana people.

Then, the remaining ten persons
are Haryana people.

No, sir! He is a Madhya

Pradesh person. He is a

Marathi person. Only we

eight are Haryana persons.
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It is not correct, sir! Out of the
eight only five are Haryana
persons. I am a Karnataka
person. She is also a Karnataka
person. We two are Karnataka
persons. Jyothi! You are a
Mabharashtrian, aren’t you?

Yes.

Yes, Ms. Niraja! You are a
Kannada person. She is also
a Kannada person. She is a
Mabharashtrian.

Sir!" You are a Telugu person,
aren’t you?

Yes madam. Ms. Jyothi! You
are the only Marathi person,
aren’t you?

Yes, sir! I am the only Marathi

person.

Sir! Now teach the lesson.

This itself is the lesson. Okay!
Listen to this too.

kkosk

Sarala! You are a nice girl.
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I'am a nice girl. And, are you

not a nice girl?

I am also a nice girl. We both
are nice girls. What are those
flowers?

Which ones? The white flowers
or the red flowers?
Those red flowers.

The red ones are roses.

The white one is jasmine, isn’t
it?
Yes, it is. Do you have a

jasmine plant in your house.

Yes. Not one; there are two.
There they are!

Oh! Your plants have many
flowers. Don’t you have rose
plants in your house?

No.

We have one jasmine plant and

one rose plant in our house.

Are they big plants or small?
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The jasmine plant is small and
the rose plant is big. It has

six branches.

Good. Is this a new tape
recorder?
Yes

Is this tape-recorder made in
Japan.

No. Itis an Indian one. Listen
to this song. Itis nice, isn’t it?
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DRILLS

a. Repetition drill

30080 ©0& AE3?
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& 000 §RS S8 Loob.

b. Substitution drill

Model (i)
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Yes.
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Model (ii)

50068 @08 BohwS” medicine.
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£06) @08 BoHE' chair.
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Model (iii)
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Model (vii)
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c. Interlocked substitution drill
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d. Response drill

Model (i) Model (iv)

SOAV) DS08? (TrTe) S €08 00m? (Sen)

TITTHD SOIW). D €308 ) Bk; Bewod.
1. 8RS I0) 2508? (70) 1. @5Ts88 devom? (2:00))
2. 23800 508? (e85) 2. &7 ¢208 denom? (2030)
3. 22 W) JS08? (wgoomrdd) 3. & 08 wjom? (dew)
Model (ii) Model (v)

& 3006 J508? Jz? (oe) B3 S20QE.

& 3000 T TC0; TR, EHETT S00DTO!

1. & D0 A508? Tos? (AD) 1. RSB T
2. & 000 JS508? Wwiwz? (Do) 2. eoHhS FET.

3. & S0 D508? 3J5°? (éa&é)s) 3. 30 denard.
Model (iii) Model (vi)
G BOODTED. @S S0TE.
®. @Y% B B ®. Y3 EE oDTED
8. @HS K BLAHT). &, DY ErE SH0DTI]
1. & BomrdTdo. 1. @985 Bomrdardd.
2. 0 EGT. 2. & DEO.
3. B %cha"d). 3. YOS ANT.

Model (vii) O 200E" Qo eTon? (500; sowso)
T D00E 00, TANS0 GTYOW.
1. o z%ﬁéf; D00 esTmo0? (SargeEsoso, aS“Q{ogéao)
2. o P o emon? (g, $wo)
3. & (168’ o wamon? (Gairdo, WJEO)

Model (viii) &>&" esdido rogTaeo.  (deorh)
S edorhdo doorbaeo.
1. oS S0 dehare). (85 ¢0)
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2. & HH5006 SoTbT ). (23omrd)
3. K3 agty sSkoe). (2.0am)

f. Expansion drill

Model (i) Model (ii)
esOeoT 0. (D) D W DDk
DERL BOHLOTYOD. B8 0 D6 dDo&.
1. YreoT)ow. (§°553&) 1. J80 A30&.
2. esHeoTiow. (Dew) 2. & FoNT DHNLOG.
3. §de0Tom. (D) 3. aod &rEodk.
Model (iii)

N

S &880y ok . a0 &?08 D God.
S €908 W) TG God. 3. & [eS Bock LHbyeT.
1. & 0S PILo &od. LT SHS Srarow sod.

N

EXERCISES

a. Answer the following questions as shown in the models.

Model (i) Model (ii)

B DHeB0D? (Beord) 821 $25502? (Bormd)

A5 BT % Bordze.
1. 78T SHc0R? (Bomrd) 1. o) SH550? (rog)
2. ey o507 (STes) 2. 301 SHDgS0? (Bend)
3. Tgdoer] Soeas8D? (Lovd) 3. TaT SoH80? (S0Td)
4. erer) DgS0A? (Tog) 4. G208 SH38? (sTexs)
Model (iii)

I582? (o) 2. B0? (sges)

3098 BODHTED /BLAHTID. 3. JL0? (LoTd)
1. 25827 (203m)) 4. 325097 (es00w°)
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Model (iv)

2R56J? (Borrd) 2. J30? (Bewr)
S BorrdTSs. 3. 30? (L0d)
1. I502? (rog) 4. I3:5027 (2S)

Model (v) O 2008 ddvo wamoen? (2ggo, $wo)
T D00S" PYJgo, Swo wTow.
1. J0BS o eTen? (S0, sewso)
2. M &g o wTon? (FGRzDo, 8Trouso)
3. D 30 o eIon? (Gairdo, REo)

Model (vi) & 50050 25087 @8$d5°? (5)
& 000 88 5¢0; B8.
1. & $vo A588? Tew? (¥5)
2. & YIZ0 A568?  Lores? (L08w)
3. & (b 5087 s? ()
4. & T60 08?7 TEF? (200)

Model (vii) Model (viii)
& DeRH o eTow? (Yreo) $0ITW) J3508? (0)
& DR Y ROT) 0. °08.

1. © §a o &Tow? (eHen) 1. 260 J508? (ess)

2. o 08 Do wod? (270)) 2. DS W) D082 (Lo95)
3. S @08 Do wod? (dew) 3. S W) V508? (Tw)
4

. @ DEH Do sIa? (Tobew) 4. & AS88? (d)

Model (ix) S’ /505E" Dodsood Beorared)? (Searmd)
®. 7S’ /53S" W0 SLHE0 BLUHTE)0.
®. Srd /5SS T ILohE BedTE).
1. NS /H0IE Jods0d B0¢)? (é&oﬁgd})
2. /IS Jodsood §Ee)? (acgéo)
3. WS/0IE" Jods0d TETE)? (20800080)
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Model (x) 20&'/503S" Jodsood Benardy)? (DAD0506))
®. $E’ /53 /200 INWES0HIL BLhTE)C.
©. S8 /503S /TE) OB BLOMDT).
1. /558 Jodiod denmdare)? (§Ahsood)
2. NE/HIE QosS0d §&¢)? (Dhk0d)
3. & /L3E" Jodsod FSTE)? (ado0d)

Model (xi)
DO @08 HAE? 2. §8 @08 JIG?
O o8 @ofnd’ tiger. 3. 20 @od JAe3?
1. 20050 ©@0& JNE3? 4. S26 @08 AWS?
b. Rewrite the following sentences as shown in the models.
Model
3D SooQared. (Lorer) 5. e90HS . (00)
20460 S0DB. 6. TGS 000D, ((6.)5@3 fem.)
1. 080 Hodbd. (¢)) 7. & V5. (28 masc.)
2. 095 DETED. (oo pl.) 8. T Ddarcd. (éaaé)g masc.)
3. @83 oDTE. (Lo30) 9. e PQ&. (R fem.)
4. @85 recdd. (es2o hon.) 10.57¢6 deorhare. (eso eql.)

c¢. Give your responses as shown in the models.

Model (i) S S0 E5%0ae). (Beorb)
EHITEY) dRVTe)?
1. 5038 Bgd wETE). (D)
2. 3@5968 SQME T ETE). (5s)
3. 5)%59@58 2,85 Srobared. (Bomrd)

Model (ii) & [0S Bocky HEoTIOIr? (2.8)
2.8 £0) Sr@d God.
1. D 408 B ) Goor? (2:20)
2. © 0PSO YFTTCIr? (200)
3. Q) R0 Bodd HErd) DeRTCIr? (2:8)
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d. Match the following.

1. Tdoodogmros.
2. S DR
3. 0 Jossood
4., 535S oS00
5. & doodo
VOCABULARY
Qw00 what (pl.)
S bottle (n)
&0 see @O (lesson 4 & 7)
00D medicine
@08 means (used to elicit
the meaning of a word)
e3s80 fever
8GO stomach
) /20y pain
9 mother’s younger sister or
the wife of the father’s
younger brother
S0 head
Do) ear
3% /=208 now onwards/hereafter
B0 lesson
BOIND hear
@9300°:5¢9 Amaravati
U"@O a political State
€30(¢3(220% the state of Andhra Pradesh
& district

Forooddo Siva Temple
23000700 Bouddha Stupa
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. TTEITE)0

@. BMTE)?

3. EHISIW.

&, SOIVE T LHoNG.

G. SOHQOToW.

§)3LS&  the river Krishna
00§00 museum

oo train

Sorlda  only

VNG telephone

o> the state of Haryana
36¢ the state of Kerala
2,007 the state of Orissa
2omr®  Bengali

GON the remaining (adj.)
So¢8@05 the state of Madhya Pradesh
NVleyo) Marathi

Sgws  the state of Karnataka

aﬁogﬁo"ég the state of Maharashtra

53)3) teach

2! an interjection of grief or
pain or admiration.

NSO jasmine

DEW tree/plant

§ aﬁog branch of a tree

&205°¢6  tape-recorder

BT Japan

0603 India

T song
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GRAMMAR NOTES

14.1. Some more functions of the dative case suffix are introduced in this

lesson.

14.1.1. In the following sentences the dative case suffix -& /-8 -ku/-ki
expresses ‘purpose’. The meaining of the suffix can be equated to ‘for’ in

English in these sentences.

30080 D308? maMldu evariki? “Whom is the medicine for?’
00 M. maMdu sugupaku. ‘The medicine is for Suguna.’
& 00 SORMNE o0&, T maMdu talaneppiki maMecidi.

“This medicine is good for headache.’

14.1.2. In the following sentences the dative case suffix is used to denote

a type of ‘destination’ and a ‘possessor’.
Sor €08 De0od.  ma driki railuMdi.

This sentence has, in fact, two meanings. They are, (1) There is a train
(going to) my town, and (2) My town has a train connection. In the first
meaning the NP which has the dative case suffix denotes ‘destination’. In the
second meaning the NP with the dative case suffix denotes ‘possessor’. In the

same way the following sentences can also be interpreted.

Som 08 2000) oh. ‘There is a bus going to my town.’; ‘My

ma driki railubMdi. town has a bus connection.’

But the following sentences have only one meaning where the NP with the

dative case suffix denotes ‘possessor’ only.
1. S &808 P &od. ‘My town has a telephone connection.’
ma iriki fonu uMdi.
2. S Ro&8 P 0. ‘My house has a telephone connection.’
ma iM iki fonu uMdi.
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The following sentence is comparable with sentence 2 above in its meaning.

S aoé?f F3 od. ‘There is a telephone in my house.’
ma iM 1o fonu ubMdi.
14.1.3. Recall the possessive function of the dative case suffix in sentences

like &8 ¢ &o& ataniki caduvu uMdi ‘He has education’ (13.2.2.).
In the following sentences also the dative case expresses ‘possession’.

08 esedo. hariki jvaraM. ‘Hari has fever.’
350 SoJIW).  ramaku talanoppi.  ‘Rama has headache.’
T2 DIVW).  1djuku cevineppi. ‘Raju has earache.’

Notice that in the above sentences the affirmative existential verb is not used.
However, when it is used it adds an emphasis to the possession. (cf. 13.2.2.1.)

T 280 wok. naku jvaraM uMdi. ‘I have fever.’
NIIIION %JQ &Oo&. raviki talanoppi uMdi. ‘Ravi has headache.’

But the negative existential verb does not add any emphasis, and simply ex-

presses the non-existence

T 23580 B, naku jvaraM lédu. ‘I don’t have fever.’
308 oI S0, raviki talanoppi I1édu. ‘Ravi dosen’t have
headache.’

14.14. In the following sentences also the dative case suffix expresses

‘possession’.

© DD YL GI)oW. “That plant has flowers.’

a ce uku palu unnayi.

es §°5§Jg§3 esgoen GO, ‘That branch has leaves.’

a kommaku akulu unnayi.
14.2. Consider the following expression.

ST feluguvadu ‘a Telugu man/boy’
SoT08& mara idi ‘a Marathi woman/girl’
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T haryanavaru ‘a Haryana person (hon.)’
&6@”3@@50@ orissavallu ‘Orissa persons/people’

These are nominal predicates. (See 9.1.,9.12.,134.,134.1.,1342.,and 1343)

14.3. The nominal predicates, pronominal predicates and adjectival predicates
also maintain concord (See 2.6.,5.5. and 5.5.1.) with subject NP in first person
singular and plural, and second person inferior singular in verbless sentences (1.1.).

O 00D, nénu maMeivappi. ‘1 am a good man/boy.”
0 00T, nénu maMcidanni. ‘1 am a good woman/girl.’
o0 dentbarey. nénu teluguvanpi. ‘1 am a Telugu man/boy.’
0 B nénu telugudanni. ‘1 am a Telugu woman/girl.’
00 /B30 $0Qe7¢H0. meM/manaM maMecivallaM.

‘We are good persons.’
20 /B30 / SogTee)0. méM/manaM haryanavallaM

‘We are Haryana persons.’
Q08 S0V ED. nuvvu maMeivadivi. You are a good man/boy.’
D DOVTI. nuvvu maMcidanivi. “You are a good woman/girl.’
8098 2O ED. nuvvu orissavadivi “You are an Orissa man/boy.’
8098 20NTA. nuvvu orissadanivi You are an Orissa woman/girl.”

143.1. Recall that the concord markers = -727and - -v7 are added to oblique
bases (3.7.). The oblique base of the predicate markers

—o® -vaduis -G -vadi (7.6.1.), and

—-& -di (which is the shortened form of —e9& -adl) is -0 -dani (3.5. and
7.63.1.).

As these predicate markers are nothing but pronouns used as suffixes (see 13.4.2.),
the respective oblique forms of the pronouns are used here also.

SO0VTE + J = DOVTE-J = 0Ty (For sandhi see 5.8.2.)
mabMlcivadu + ni = maMcivadi + ni = maMcivanni

‘I am a good man/boy.’
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00VH + A = DOVTA-J = oV (For sandhi see 14.13.)
mabMcidi + ni = maMcidani + ni = maMcidanni

‘I am a good woman/girl.’
144. In this lesson a different use of locative case suffix -&' -/ois shown.

WS Jodsood deorare)?  ‘Howmany of you are Telugu people?”
milo eMtamaMdi teluguvallu?

14.5. Notice the difference between the following two sentences.

1. S’ QW deodared).  “Two are Telugu persons among us.’
malo iddaru teluguvallu.

2. S5 QG0 deure)o. “We two are Telugu persons among us.’
malo iddaraM teluguvallaM.

The speaker of the sentence 2 above is also one of the two Telugu
persons, where as it is not so in sentence 1. The concord in sentence 2 indicates
that the subject NP of the sentence is 20 aQdo meM iddaraM and that a0
méM s implied.

14.6. Consider the following sentence.

RS 286 ogoered. ‘I am the lone Haryana person among us.’

nénu okanni haryanavanni.

In this sentence &égg) okanpiis an attribute to 2 nénu ‘I’ the subject
NP. It appears in this sentence that the attribute also maintains concord with
the subject NP. However, note that only the predicate NP maintains concord
with with subject NP as stated in 2.6. and 5.5. The anomaly is due to the fact

that the above sentence is a combination of two sentences, viz.,

1. D0 2,88, ‘T am one.’

nénu okanni. (subordinate or embedded sentence)
2. %0 TTETTES. ‘I am a Haryana person.’

nénu haryanavanni. (main sentence or matrix sentence)
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When the embedded sentence > &éejé nénu okanni is merged with
the matrix sentence the subject NP of the embedded sentence, i.e., 9 nénu
is dropped as it is identical with the subject of the matrix sentence. But the
predicate of the embedded sentence aaése’;é okanni with its concord is incorpo-

rated in the matrix sentence as an attribute. Thus we get the sentence

NS 2888 Tograred. ‘I am the lone Haryana person (among us.)’

nénu okanni haryanavanni.

14.7. Qo éméM s the reduplicated form of Jo &M ‘what’ the inter-

rogative neuter pronoun (9.12.)
O + DO = D0 eM + eM = éméM (For sandhi see 2.11.)

Such reduplicated interrogative words denote plurality, and when used

in a question, anticipate more than one object or a plural noun in the answer.

D00 GTYa? S0 TS0 GITNOW.
éméM unnayi? kalaM kayitaM unnayi.
What (various things) are there? ‘Pen and paper are there.’

D R)aTEHED aSD(SD + DD)? 6D, A0 T Vyarsoe.
nr snéhitulu evarevaru? ravi, girf na snéhitulu.
(evaru + evaru) ‘Ravi and Giri are my friends.’

“Who (various persons) are your friends?’

Q ST DTG GTI00? T ST BT AHE LT)OW.
(Qé&cﬁ + o)é&_é)

ni kalalu ekkadekkada unnayi?  na kalalu akkada ikkada unnayi.
(ekkada + ekkada) ‘My pens are there and here.’

‘Where (at various places) are your pens?’

14.8. Recall that Telugu does not normally use a conjuction like ‘and’ in
coordinative constructions, and that the final syllables of the constituents partici-

pating in such coordinative construction are pronounced with with extended
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length (5.6.). When nouns ending in consonants and o0 M (sunna) are partici-
pating in a coordinative construction the final consonants are pronounced with
an extended length, but this length is not represented in writing.

20 Q& YQ%o Swo & ow. “The book and pen are on the table.’
balla mida pustakaM kalaM unnayi.

TS ATd 0)Tdoen. ‘Mohan and Gopal are friends.’
mohan gopal snéhitulu.
14.9. Notice the derivation of the adjectival predicates in the following
expressions.

QS Jrew erra palu ‘red flowers” = DG erravi ‘red ones’
WY DY pedda ce u ‘big tree’ = QO peddadi ‘big one’

OD DY QY. = O YT QD

avi pedda pustakalu. a pustakalu peddavi.
‘Those are big books.’ ‘Those books are big (ones).’
20 BY Jo. = & 200 BOO.

1di tella saMcr. I saMecr telladi.

“This is a white bag.’ “This bag is white (one).’

But the following transformation is not possible.

o8 QBRY. adi malle ce u. = T OWD 0o, e
trattedi.

adi malle ce u. Fee—umattedi.

“That is a jasmine plant.’

The condition seems to be that the adjective should be one of the following:

(1) An adjective which is in possessive relationship with the noun

28 & E®o. = & E00 I&.
1d1 ravi kalaM. T kalaM ravidi.
“This is Ravi’s pen.’ “This pen is Ravi’s.’
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(i1) A qualitative adjective

Y0 oD Swo. & 00 HoV&.

1di maMeci kalaMl. I kalaM maMcidi.

“This is a good pen.’ “This pen is good (one).’
(iii) A quantitative adjective

ad g 6. & (10 Q0.

1di pedda gadi. I gadi peddadi.

“This is a big room.’

“This room is big (one).’

(iv) An adjective whose semantic function denotes ‘belonging to” or ‘made in’

20 BIFQ Evo. = &5 0 23T,
1di japan kalaM. I kalaM japandi.

“This is a Japan pen.’ “This pen is made in Japan.’
(v) An ordinal numeral adjective

& 00 3086.
T kalaM reMdodl.

“This pen is second (one).’

20 D0& Ewo. =
1di reMdo kalaMl.
“This is second pen.’

It may further be said that the adjective should not be (i) an adjective derived from

a common noun which gives a group identity to the object denoted by the noun.
Y DY = (oS ole)

malle ce u ‘Jasmine plant’ mattedi

and (ii) a cardinal numeral adjective.

2 B0 éaé&eb = S Seyionpelelevop
1vi reMdu kukkalu. Thkukkaturetfdivr
‘These are two dogs.’

14.10. GO = wod unnadi = uMdi (4.3. and 7.1.)
The III person feminine and neuter singular form of existential verb
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@o& uMdi is a variant of &s\& unnadi. o0& uMdi occurs more in speech,

and ¢&sN& wunnadi in both speech and writing.

14.11. 28 /08 ika/iMka ‘hereafter, henceforth, now’ is an adverb.
Notice its usage in the following sentences.

B TB0 A/ o8 FBo V. ‘Now you (better) listen to
1ka pa haM vinu/ iMka pa haM vinu. the lesson.’

RS /08 B0 IS)lele ‘Sir, now teach the lesson.’
1ka/ iMka pa haM ceppaMdi.

14.12. e abba! is an interjection. It is used to express the intensity
of the emotions such as grief, pain, disgust, surprise or admiration.

14.13. Notice the following sandhi process.
DOVTA + Q = DoV maMcidani +ni = maMcidanni (14.3.1.)
A short vowel occurring between two identical consonants is dropped.

14.14. The verb Sy ceppu stands to mean ‘to teach” when used with
nouns such as 80 pa haM ‘lesson’ as object.

80 Do& pa haM ceppaMdi ‘Please teach the lesson.’
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